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For money; she is permitted to her husband — ;75¥a% nann Jan 73 5

OVERVIEW

The 71wn teaches regarding a woman who was taken into custody by gentiles; if it
was because she owed them money, she is permitted to her husband (upon her
release). MdoIN will explain that she is permitted even if her husband is a 772 who
1s prohibited from having marital relations with a woman (including his wife) if
she lived with a gentile, even against her will.
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It is the view of n101n that she is permitted to her husband even if he is a 3,
for we are not concerned even for coercion, since the gentiles are afraid to lose

their money” if they will violate her -
- *nawh s N9

And this woman who was 722an1 is not comparable to a captive woman who is 770K
1795.

modIN proves his point that she is 173 79¥2% NN
- ©529)5 »12IYN DY NOPN INIY? Y NINX 1Y RXI 9IRPT NXI9)2 NN 199

And this is also evident in the X923, where °"'1 72 w"1 states in the name of 29,
‘we did not learn this rule that 75¥2% n2n» only in a situation when the hand of

the Jew overpowers the gentiles; the Jews are in control of the government, then she is

7%¥2% NN -
- A9¥aY AONR PN 215 5Y 19%aN Y)Yy Yy N9YDN 02919 YTIYN 4P YaN

However if the gentiles are in control over ‘themselves’ [the Jews], she is
forbidden to her husband even if she was taken on account of money’. This

' She is certainly permitted to her husband if he is a 987", because there is no reason to suspect that she was 71m
willingly (since they are not holding her for mws1 °1>7), and even if they may have coerced her to be 71, she is
permitted 8w 179925, The truth is that she is even 173 79v2% 1mn (who would have been 0K to this woman, if she
had relations with the ", even if she was an 701X).
* The reason of DIm» 70972 *NNMT is seemingly more applicable to 01X2 than to 17¥72 (there is a greater chance they
will lose their money if they are oi¥» her, than if she is 1%¥72 n%ya1). Rather the Xo1R? 12°0X refers to the probability
of an act of M7 (an act of 01X by the 0"12¥ is more probable than an act of %7 by the TwX) and nevertheless we are
not concerned since 131 *NNAT.
? The captives do not owe their captors money; therefore the captors are not that concerned that they will lose money
and therefore feel free to violate the woman. However in our 71w» where the 0"12¥ are owed money and are holding
the woman as collateral for their loan they do not want to ‘damage’ their security, in order to be certain that they
collect their debt.
* This is a euphemism to refer to the Jews without saying so directly since it is an undesirable situation.
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concludes the X3, NMOIN continues -
- Sannawn »a MPNIT NYNNN NN 13 1IN GN 9INPTH m31195 1390 N9 S

And perforce we must say that 77v2% 77108 means to 72975 (to her husband, the
173, or any other 7712), since X217 said, ‘we also learnt this ruling of 27 that 770X
7°v2°% from that .-m:m,7 where there was (somewhat of) a similar case and the

family of this woman distanced themselves from her; they would not let her marry

into their family because of this incident -
- 513799 NON 799V K9 N

And this concept of 7nmown 12 Mpn™ is applicable only by 713725 out of concern

that if she was 177¥21 (even) 013X she becomes a 7377 and cannot be with a 37> -
- “nbyabh NON NON NINT ANNAYN A MPHMN 7Y R INIYIAY

For by a family of 2982w the concept of nmown 12 PR is not applicable

for even if she was %72 71t she is only forbidden to her husband, but she may
marry anyone else in the family (who are not 0°1772).

Mmoo offers an additional proof that 7 *"y she is nImn even 172 Toya: '
= (8,32 97) NI NTIAY NIVNT Y P92 1INT NIRRT TIW

And an additional proof, for we learnt in a /72w in the second ?9p of "'y noon -
- Payraqn 5y 0IHUNY 2391 031913 312IY YW MNPTNNA NNNA PIRYN PN

We do not place unattended cattle in the gentile inns because they are suspect

5 The ruling that if 79°Pn "oy 7 she is 77¥2% 7MOX means only 71737, but not to PRI 7%¥2 (since INNOWH *12 MPA™M
also means only to 7173, as MoOIN shortly states).
% The proof that X217 brings to support the view of 27 (that if 79pn 0"y 7> she is 7%¥2% 7M0OK) from the fawn of
annawn 12 Mpn is actually from the fact that the 71w states that she is 77v2% N2 since there are 7RV XoW D¥7Y;
indicating that if there are no 0°7v she is 770X. However since the m1w»n mentions that it is a case where (initially)
mp A, this proves that we are discussing a case of 71772 as MooN explains. See ‘“Thinking it over’ # 1.
72" "y ne.
8 The case of X1 "m 1R AX (the mawn of Mmpn ) is referring to 71172 MO°R and this supports the view of 27 (see
footnote # 6), indicating that the 1w X% of 21 (and therefore our nawn, which 21 is referencing) is also discussing a
7105 case, for if 27 is discussing a 9% 707 only, but not to 71173, therefore the Mo°X of 19°Pn 2™y 77 is also
discussing a P8 (and she is 770K because presumably she was 11872 73m1). How can X211 prove from an MoK
1757 (the case of mpn ), which is 770K even DX, that 27 is correct regarding an X% Mo°R (which can apply
only if it was 1%¥13). Therefore we must conclude that 17 is discussing an 713757 Mo°X only (if 79°pn 2"y 7°), and
aN79% i also (if 79PN YR 7).
? We must say that the annown *32 Mpr™ is referring to 7172 MO°X; they did not allow her to marry any of the 0°373 in
that family because she was presumed to be a 11. However if it was regarding an MoX to a 7R she would (at
most) only be 77¥27 7710K even if she was 11¥72 71m, but not to the rest of the family.
1% moon is (seemingly) not (completely) satisfied with the first proof, because perhaps we can say that *33 7P
anown is referring to a YRXW (and as the mawn states 287> na) and the reason why mpn ™ is because they felt she
became promiscuous, but not that she is 7°7i7 7>y 7M0OK. See ‘Thinking it over’ # 2.
t 7v227 is forbidden for 0™2y. See *"wA there P7wnw 1"7 who writes; w325 P ('D ,2 ﬂ’WN'D) 2°N27 172 1M0K1 11 71N
D1Wan 1NN R? MW 2197 IRD WA MY 70 772 IR NN,
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of bestiality; the xn3 there continues'” -
- 1a29m5 11913 191 PN 110N

But I will challenge this, for we learnt, ‘we may buy from them an animal for a
329’ this proves they are not 7¥°2771 v Twn! X127 answers ' -

- 4a¥%7 XN NYNNY NN NOWD NY
There is no difficulty; here regarding 0"2y W MRPTNDA AN PTRYA PR, it is
initially; one should not do it for there is the possibility of 7¥°27, and here by

12997 702 3an 7PaP? it was already done and we assume that there was no ;7v°27. The

Xn) there continues -
= DNIYN DY DITVYNY 23910 DNNY NYN TNMNN KT 1INT 5910 NHNNDY 123 YT XN N

And how do you know that there is a difference between 77%1n2%, etc. and 7237
regarding the ways of the 0">y? The Xn3 answers for we learnt in a mwn,' ‘a
woman should not seclude herself with 0"y because they are suspect of
immorality’; the X3 continues -

= NYYAY NN PN 1T JY D290 Y721y 2T DY NYANIY NYNRN 1NN
But I will challenge this ruling, for we learnt in (our) miwn, a woman who was
mwar: by 2913 on account of money is permitted to her husband (so how can you

say they are N1™yn 2y 0>7wn), the X3 continues -
= 7219 NHNNDY 192 1D %Y NI YW NON

But rather this proves the point that we can derive (by resolving the
contradiction) that there is a difference between »nna®» (that she should not be

7m°nn with ™2y, since they are N1 wn Y o7wn) and 7ap7 (that even if she was
7onn [by mwani] we are not concerned that she was 719v21). This concludes the citation from that
RO%3. MODIN continues
- NYYAIY HY YINY PRT YUN
It is apparent that there is no concern (723°72) that she was 17%va1 at all (not even
DIX2) -
- NNINI NNPY 1PUMN KT MNP INIY 1YY NI ONT
For if 75»2% nanm means only to a 87w, meaning that we are not concerned

that perhaps she consented to the mir -
$97592 119910 111 RY 19 BN DDINY XDV 1PUHNT NNON 119 *nbyay Sax

12995
3 A nyanaa anma is 12995 7oK,
4 x,0.
5 x,20 1"y,
1 See 0w MooIN who writes; 1N°INM 23X 72¥29 BRI I XM ,KD0 WX 75¥aY Xw* vp1. This explains why the mwn
(according to moon) did not write 721737 NNA.
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However she would be forbidden to her 37> husband, for we are concerned

perhaps she was coerced to mi7; if that is so the X773 did not bring any proof at
all that there is a difference between 1%nn3% and 723°7, for we can say that 2">yn oy 7NN X
because they will coerce her, however she is PRw° 75922 01 because even if they coerced her
she is still PX7w 79¥2% M, since a PRI is DIRA NPT INWRA Inwa! Therefore we must say she
is NN even 712 17922 because even though 7%mn2% a woman should not be 2™>oyi oy 7m°nn
because they are 17w, however 72v°72 she is 372 79v2% nann.

SUMMARY
An "2y "y 7wamw 75 nwX is permitted to her husband even if he is a 772.

THINKING IT OVER

1. It seems that N1010 needs to prove (from 7AMOWH *12 MpPn°7) that the ruling of 27
("2 w"Y) is referring to 7175 (only).'” How can we understand otherwise that 21 is
discussing a 9%, for why should she be 79v2% 710K if 79°Pn 2™>DY 7°; even a
7MW is PRI 79v22 N, why should mwam be different?!'®

2. What is the advantage of Mmoo first proof'® over the second proof?*’

3. mvoIN proves that 27 is referring to 7172 from the X7 XX of X1°10 "1 1IR AX.
Seemingly N0 could have proved it from the Xnp X1w°% which challenges 27; for
if 27 maintains that she is 71379% 7708 even if 79PN S8W° 7, there can be no
question on 27 from the 71wn in N7Y. Obviously our mwn (which prohibits her
nNn9% [according to this interpretation of 27]) argues with the 71wn in N7y (which
permits her to 711715). Why did not m»o1n bring this proof from the p">?!*!

17 See footnote # 6.
18 See "1o.
1 See footnote # 10.
2 See x,30 1"y 0" .
1 See bW NO3.
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